| Efficient neural network for 3-class classification v

\ o111
o - PyTorch 2.4 B{ & import torch
- torchvision.models.efficientnet_v2_s(ERIFEEH) % FEFE lmport torch.nn as nn
0, -CIFAR-10 ¥ —4% v N TEME from torchvision import models, transforms
_ - main() B TRz HiEH I 28BRICT S |
= -ETILDERRR EFRTE IFconfigpys UTERT %
on -?-9@%%&&5’%@5£?ﬂ£§§§'%%4:/Mfﬁititrain.pyc‘: ULTYERRT % NUM_CLASSES = 10
- F— DFEHABHDHsys.argv[1] TAT Y RS+ V3 15EEYICHES LEARNING_RATE = 0.001
S BATCH_SIZE = 64
B FF: NUM_EPOCHS = 10
- GPUXT It (device = "cuda" if torch.cuda.is_available() else "cpu") - )
INPUT_SIZE = 224
EfficientNetV2% {#i > 7- CIFAR-10Mi{R 77D #EEHZA 7 ) 7 ZE L £ L7z, a2 v /%7
P REERZ LB THLET, DEVICE = "cuda" if torch.cuda.is_available() else "cpu"
1—K TRAIN_TRANSFORM = transforms.Compose([
~ transforms.Resize ((INPUT_SIZE, INPUT_SIZE)),
o transforms.RandomHorizontalF1lip(),
FIT Ik .
transforms.RandomRotation(10),
- transforms.ToTensor(),
transforms.Normalize(mean=[0.485, 0.456, 0.406], std=[0.229, 0.224, 0.225])
python train.py ./data D
Z721) 7° X @ﬁ’{iﬁ TEST_TRANSFORM = transforms.Compose(|
transforms.Resize ((INPUT_SIZE, INPUT_SIZE)),
1. config.py: € 7 /L EF & iE % Hify transforms.ToTensor(),
o EfficientNetV2-S (HH[FEHFA) Zi+AAA transforms.Normalize(mean=[0.485, 0.456, 0.406], std=[0.229, 0.224, 0.225])
_ -
o f%E % CIFAR-10H (107 7 &) Ta < D
S def get_model():
ClaudeloR1E.. "MEFficientNetV2-SEFINEEB L. BIKEAECIFAR-10M(CEE"""
P model = models.efficientnet_v2_s(weights=models.EfficientNet_V2_S_Weights.DEFAULT
o + = {9 Sonnet 4.5 v . , . ,
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